Ratio to DO

dcr3jet / drn3jet [pb/GeV]

10

1071

1072

[EEY

0.5

1960 GeV ppbar Jets
[T T T I T I I T I T T I T I T I I T —]
- | | IZ%
— 3-jet mass (DO p_ >40GeV, ly| < 1.6) 13
= | ==
L I~
— — Al
B e
= —1d
= Hm
— :E
L 1=
— -
B e
— = Nep}
— <
— Hm
— Jdo
o
— -1 M
g
= m DO = ;
- A Pythia 6.428 370 - S
- —-£-- Pythia 6.428 391 —5
—— Pythia 6.428 default —c
= —— Pythia 8.130.p1 default 38
)
Z 1o
o
—— — U
=) | | | | | | | | | | = E
:I | T T T T | T T T T |:
— -2
N £ = S_.—Ds.ser____.u ....... TF—= | 1
[ oo w5 H -5 CF : ]
| —0.5
1 " | " 1 1 " 1 1 " | " 1 1 1 1 " |
500 1000 1500



	Contents
	Page 1


